1960 GeV ppbar _Z (Drell-Yan)

1/c do/dp (Z) [1/GeV]

| | | L L [
~ | ]
1 = pT (muon channel) -
l—lo—l ; _;
107 £ =
10_3 §_ —§
10_4 g_ —§
= Pythia 6.428 346 N
107 E Pythia 6.428 347 =
— Pythia 6.428 348 -
10°¢ B Pythia 6.428 349 ]
= —A— Pythia 6.428 370 =
_7 | J—
10 §| | | | | | | | | | | | | | | | | :g
:I ' ' ' ' [ ' ' ' ' [ T T ! ! | I —
2 F =
s L .
2 W e : A 5
S 1t = I
= S i
c = i
05 — |
T S TR [P B L PP R TR T TR S B
0 100 200 300

p.(2) [GeV]

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


